ST 745 i = X 15
i CET A4 - DR R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| B £ P DU —t 4l 7. - - - -
LIS D Ktk
1 Raainwy 40 | L1l ooob 7 o o1 | —
2 _EILISN o HE, 40 | 1.1|F 6.3 108 5T 57— —
JEH] FE PR M X3 —#l 2. 40 5.2 | —|  —| —
LFREIA D K 5
1 ESERV 40 | L1 osoeff 19 13 13 | —
2 _EFLEISF MR 40 | L1(P 3.0 6.2 7.4 7.4 @ —| —
N BRI Ik
2 Y iThich — | BRAR | PME bbYE bW beWE | -
2 _ERLEA ol 50 | 11| fb¥H MW bRYE HME | —
T A R ik
1 B B g —fi 5.0 8.2 — - - —
2 ERLEIA DR 40 | L1(F s 7 1 20 200 — —
oz P 15 40 | L1|F L8[ 340 430 4.3 —| —
7K = F i D —l 3. 460 5.3 —| - - —
RFRRLIA D K S5
1 [EiE - BaEin 40 | L1|F 5 1F 1 17 17 — —
2 EERLA O 40 | 1.1|P 3.9 6.4F 8.8P 88 —| —
Giii)=2) = PR Ik —W 2.t 5.2 —| - - —
ERRLIA ORI 40 | L1|d 4.0 9.5 74P 74— —
HE £ P L U —t 3.5 6.3 — - - -
ERLEAA D X I
1 RaEnwy 40 | L1|d 84 9 1 o1 | —
2 LELIS o i, 40 | L1|F 5.3 8.4 9.0 9.0 —| —
5| LM fi P b X3 —l 2.8l 4.4 —| - - -
LR DRI 40 | L1 4 5.3 5.7 5.7 | —
i ESPERSIA 40 | L1 5.3 12 9.4 9.4 | —




ST 745 i = X °H
i CET A4 - DR R E
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
7| i EFELISh o Hitkik 40 | LO|P 17F 5. 0 680 6.8 —| —
Z| A8 P X3 —#t 4. 8% 6.3 - - - —
LERLIA o Kt
1 RERWy 40 | L1 e.df 10 13 13 | —
2 FEREAAh o Mgk 40 | L1|# 5.9+ 8.9+ 6.9+ 6.9 — —
= IE 2l AT K
1 B g — | BRER | Phif| phiE ped bl | -
o FELIAN O s 50 | L.1| kM k¥ pedy e | —
T LA X ek
1 g o286 3 | | | —
2 BRSO X
(1) EEHR 40 | Li[F 63 1B3F 13 13 - —
(20 ERELS OIS 40 | L1|F 6.2 129 9.6 9.6 —| —
K T X Sl —l 3.8 6.2 —-| - - -
e NG 40 | 1.1|# 3.8F 1204 8.5 8.5 | —
[ A = F i D —l 3. 86 6.2 - - - —
RFRRLIA D K ek 40 | L1|d 5.5 8.4k 8 H 87— -
/MR = PR I —l 3. 360 4.6 0 —| - - —
SEIICINDIFS 40 | Lo 3.9F 7.8F 9.2h 02 —| -
oy BUR = PR Ik —el 2.5 3.5 —| - - —
RS oD K Se
1 AL AR 40 | L1 4df e g o1y - —
2 ERCEA s 40 | L1|4 4.4 6.6 7.2 7.2 — -
W A Ik
1 B Xt — | BRAR | LM bbWE e peTH | —
2 LR DX 50 | 1.1| tb¥ k¥ bR W - —
AT AR K ek
1 AR —%63@ i - - - =




SF0 TS i = X 3E
i CET A4 - DR R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
By HRJR 2 LRSS OKIK 40 | L1(F 8 14 12 12— —
B EhE - BERW 40 | L1|h 2.8/ 6.6/ 9.5 9.5 —| -
RIS o s 40 | 11|d 16 4 BE 3 U 31 | —
EACK l=353F: i1 —l 13 3. | | | —
EERLS O K
1 FaEmy 40 | LA|d o4 uff 1o 100 | —
2 REOLISh o HiE 40 | 1L1|h g osgf o g | —
i AL X ig 50 | L.1| fhiE pR¥E M pew | —
T LA X ek
1 g g6 | | | —
2 WREW 40 | 1.1 - -~ ogP ey |
3 LR RKIR 40 | L1|F 2.9 7.4% 9.7 9.7  —| —
i AR — | B | PR bEMH MY bW | —
T AR X g
1 R R o T I I
2 BRSO XK 40 | L1(F7.8F 1 16 1§ —| —
EF1~3TE S — | B | SbYE bR fhvE bR — —
E=% = PR I — 1. TRE 3.y | —| - —
LERES DX
1 [EE - BBy 40 | L1 (P 4.5 12 10 100 - —
2 RELS O HUR 40 | 1.1|d 3.0 7.8 8.3P 8.3 - -
& =M [k kIAES: — | BRER | PR bhME ey kW | —
T TR X
1 B 528 100 | | | —
2 FELS X 40 | LA o7 3 e 16 | —
EMH1-2TH =i — | BEAR | fkME bk¥E kMR LkME - -
v [ikczp (s
1 B A — | BRER | Lhif| b i bkl | -




SF0 TS i = X 1H
HXATF 4 < AR HEEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
F| dL% 2 kR DRI 50 11| kh#8 bh#e phdE phiE - -
LR Xk 40 | L1(F 6.3 10 9.5 9.5 —| —
ARAL iR (aEs:7 50 | 11| be¥y Pk v bk |
AT LR X
1 A —|# 5.4 7.8 — — — —
2 ERRESA O XK
(1) [E5E - BESER 40 | L1 oegb 13 1k o1 - —
(20 kRS o HR 40 | L1[P 5.7 10 1P 1y — —
| #m L el 2.7 5.8 | | | —
FELA DX 40 | L1|4 3.9 6.7 9.6 9.6 —| —
Y& S 2 P X o A R I I I R
LRELIA D RS
1 RGERW 40 | LU s9F F P o1 - —
2 RECEAh oot 40 | L1 4.6 117 8.1 8.1 - -
BR HEHBL b THE -1 - - -1 - - -
MEREH TS %28
P P i X S —fi 3.t 7.2 | | - —
ERRLISI O XI5
1 FaE - dE KRR 40 | L1|d e 17 o14h o140 | —
2 LR oM 40 | L1|4 4.7 8.9% 7.3 7.3 |  —
| & Al IR
1 o] R ] PR A 40 | 11| ¥ beTE YR RRHE | —
2 ERLEA DR 40 | 1.2 te¥E RRYE ORLYE OHRYE | —
A AR X
1 B —l o2 2%t 5.8 —| -  —| —
2 LRERIA DK
(1) EE -« FER» 40 | L1|F 44F 14 128 12 | —
(2)  EEisist o Hg 40 | L1|d 3.0F 7.5+ 9.8b 9.8 — -
SR Wi, hiE, Er&, KB TEL 40 | L1 |d a8 350 3.0t 3.9 |  —




SF0 TS i = X 5E
i CET A4 - DR R E
e R ks @ A o w4 [P PEEERTIBEITOGES
Z| e LIS o ik 40% 11| 3.§th 6.@#@ 5M 5& [
&| SRAk P X3 —Ft 4.0 5.7 - —| - -
LRSS DR 40 | L1 e 7.9 8.3 8.3 |  —
B kA 40 | L1|F 4R 1F 4 14 — —
#efk gzttt 40 | 1.2 - - - = - =
RER P —fol 2.3% 5.8 | | | —
ERRLISN O XI5
1 RE56 7 SMBn 40 | L1|P 5.5F 13F 158 15 | —
2 EE35 158Ny 40 | L1 4.0F 1o o.8F 0.8 | —
3 kLUK 40 | L1|4 s.af .5 o T | —
L| FHEJI RER 40 | L1(# 2.2 6.3% 9.4 9.4 —  —
LFRLIS 0 s 40 | 1.1 |F 1.8 550 4 1l 4.1 | —
TAK o F 1 —f 2. 49 5.3 — - - -
RERLIA D K 5
1 RiEiRw 40 | L1(F 5.8F 13 10 100 — —
2 bRELSt o 40 | L1 3.1 6.3 8.4 8.4  — —
TR b Xk 50 1.1| fb#8 [edy bhME i - -
AT LR K
1 =R —it 2. 26l 5.6 0 — -  —| —
2 LELA DK
(1) =W, mE 40 | 11| 2.4 6.6 4.5 4.5 —| —
(2)  kEELAS O 40 | L1 6.5 18 9.4 9.4 —  —
THEE1~5TH |2k 50 | L.1| ie¥E MR bevE bW - —
FT==® P P L X fgk — 3ot 71 - | - —
EEELMSN 0 I
1 EEinv 40 | L1(P 5.8 15 14 14 —  —
2 _EELISko M 40 | 1.1|d 3.5/ 8.5 9.8 9.8 | —
DoH £ X A At 2. 5F@ o | e




ST 745 i = X 6
i CET A4 - DR R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
U ot LRSI 40 | L1 3.3 6.7 b1 5.1 —|  —
e P X3 — 3. A 41 | —|  —| -
LERLIA o Kt
1 RERWy 40 | LA 4gf 87 12 12 | —
2 _EERLISh oM 40 | 1.1 (% 3.9 6. T 8.0 8.0 —| —
BT AT K
1 B g — | BRER | Phif| phiE ped bl | -
2 _EFLEISF MR 50 | 1.1| fhHH k¥ b M | —
AT LA X 40 | L1 7.8F 17F 1R 11 | —
| B = F Xtk —t 2. 0t 5.8 | —|  —|  —
R O K IE
1 EEiRwy 40 | L1|F 2.9F 7.3F 6.2 6.2 —|  —
2 LELU OISR 40 | L1|F 2.8F 7.2 6. 1fF 6.1 —| —
7| <4 Y Hb X —ffd 2. 6l 5. 8 - - - -
LRELLA DR S5
1 RGERY 40 | L1 4o ogfohon —| -
2 EFLA o sk 40 | 1L.1|H .90 6.6 7.2 7.2 - —
o] g AEe: 1 40 | 1.2 o T e e e R
A LA KR
1 BT — 2. 962 —| - — @ —
2 LFEEA ORI
(1) HEE -« BERV 40 | L1|# 5.2 3% 1 1] — —
(2)  _LEELASh D HEL 40 | L1|P 4o 7.2 8.5 8.8 —| -
R P P L X fgk —t 2. Al 5.4 | | | —
EERLA O KIS 40 | L1|F s o199 1 12 | —
T K fi P b X3 —l 5.4 9.8 —| - - -
LFREIA D K i
1 R AR R A DR I X g 40 | 1.1 Elrtz%r%ttﬁ = e e




ST 745 i = X 7H
HXATF 4 < AR HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
T| K# 2 PE B EhEGE L Y R o HK CHTE 40% L 1%J§Jttfglﬁtlﬁg - . : N
Fep B L 0 R o Hih
3 ELU OIS 0 | L1|FodF 1997 ufp 1 - -
&| HE T X e —l 2. 460 5.0 | —| - -
RFRRLIS D S5
1 RGERY 40 | L1fF .o 12 o12h 12 - —
2 FFERLS o Mgk 40 | L1|H 2.9 6.8% 6.8F 6.8 —| —
I =3 —W 2.7 6.3 —| - - -
LFELAS oD R igk
1 mEEE RS 40 | L1|P 4 1 9. 8% 1gth 160 | —
2 EEEEU o 40 | L1|4 3.6 6.8+ 9.6+ 9.6 — —
72 P P X —t s8] —| - - —
ERLEASR D X I
1 RaEnwy 40 | L1 e 7o 1p o1 | —
2 FELS o 40 | L1|F 4.4 867 9.8 9.8 | —
RH F PR b X 3 —l 4180 5.3 | | | —
ERLEAS DK
1 FESERL 40 | L1|F 5.8 8. 5% 9.8 9.8 | —
2 ERRLSh O HulR 40 | L1|# 5. 6.5% 5.5+ 5.5  — —
fd iy 2 F Xtk —l 3.8 7.0 | —|  —|  —
BRSO KIS 40 | L1|F 4.0 7.8% 9.6 9.6 —| —
BT B L R —t 3.0t 6.2 | —|  —|  —
LRELIA D RS
1 At RERE D 40 | LifP4Pey - - - -
2 _ERCEAF R 40 | L1|% 4.0F 6.7F 9.6 9.6 — -
| BAF R b X —ffd 2. 6l 4. 3 - — — —
B IEANOTFS 40 | L1|# 360 4.9% 5.3 5.3 |  —
i HES P k. X —t s 2 5.9 - —| - -
LFELAS D R t5k




SF0 TS i = X 8
i CET A4 - DR R E
e (TR ks @M A s AR R T s
o s | A A RO 0 i N
2 TERABESHRDN 40 oo1gdh 1§ -
3 _EFRLAh oo i 40 F 8. 8 8.8 —
bl kA 40 4. Ol 4.9 —
Oy B P A X I -1 - -
LFREIA D K 5
1 BGE5 6 7 5By 40 Hoo20 20 —
2 ERLSORERN 40 Ho9.8H 9.8 -
3 LRELUh o K 40 el 7. O 7. 0 -
HEETK 2 b I - - -
ERLEAS D X I 40 il 9. 1l 9. 1 -
A RiERW 40 F 8 1F 8.1 -
EELIA O 40 F@ 4. 6%l 4.6 —
DADR Ext 50 # v PhHE -
| B R b X - - -
ERELAS D I
1 RIER 40 - - -
2 _ERCEMA O 40 7oA 7.4 —
FE H L R 50 ki = ki -
T LR I
1 B -1 - -
2 kRS OXIR
(1) [EE - BaEine 40 o1 13 -
(2) LRSS OHI 40 9.4 9.4 —
V| FE [ER(AEes - J2ki == -
T (LR X
1 FEA MR -1 - -
2 kRS OXIE 40 d1o108 10 -




SF0 TS i = X I
HXATF 4 < AR HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
k| £ P DU ot 1. TeE 3.8l | |~ —
LA D KI5 40 | L1433 .ok 7.2 7.2 — —
N2 it FE b X S — 5. eI 8.3 | | | —
EEELS 0 K
1?\353 T2 RIB56 7S 40 | LR o o1sF o oigh o | —
O
2 _ERELIAF DR 40 | L1(|F 5.6 10 13 13— —
FAIR i P b —Wl 3.8 5.1 —-| - - -
LFELIS D R
1 JRERWY 40 | L1(F 6.6 10 11fh 11— —
2 EEEEU o 40 | L 1| 4.0 5.8 o 44k 0.4 — —
Ha i 40 | L1 Leff 3.2 5.3 5.3 —| —
A FL1~6 T H Eceii 40 | L1| k¥E bk¥ by by | —
b F P K3 i 3.0 660  —|  —|  —| —
EEELS 0 K
1 Rid - dmE R sny 40 | L1(P 7.6 197 19 19  — —
2 LFELh o g 40 | L1 5.4dr 9.9 9. 6h 9.6 —|  —
e Fi R Hh X4 —W 4.3 5.9 —|  —| | —
RRRLIA DK Ig
1 RERV 0 | L1l 7o 13 - - - -
2 LS R 40 | L1|F 6.3 8. 4% 9.4 9.4 | —
o b X
1 SRR R — | BEHR | Ph¥E PR¥E phME RRYE - -
2 bRELSt R 50 | 11| beHH RRE HMH PRBE - —
T AR X
1 RO —l 5260 11 - - - -
2 IR/ JEHIPKERE KR 40 | L1 |AedEREYE - - - -
3 _ERCLMAE DX 40 | L1|F 6.6 14 22 22— -
|| B fek 1 [ 3 —l 2. 600 4.5 20— | | —




ST 745 i = X 105
HXATF 4 < AR HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
K B LFCRAS D X teR
1 REBW 40 | L1|H .84 9.8 9.4 9.4 — —
2 LELISl o 40 | L1 3.8 6.0fl 5.3l 5.3 —| —
B F P X3 2.3 41 | - | —
ERRLIA O Kk 40 | L1|H 2.9 5.8% 7.0 7.9 — —
iifa] EER 40 | L1|d s.6F 9.9F 9.6P 9.6 —| —
LIS O Hi 40 | L1 2. 9fb 8.9l 7.5t 7.5 —| —
npEs| [EEcaRIAESET
1 BRI — | BEHR | Ph¥E Lk¥E  LRHE LRYE - -
2 kRS oHR 50 | 11| ke¥E bo¥E VR bEME S | —
TR AR X g
1A K o I I R
2 FELUAO KR 40 | L1|F 5.8 1F 10 190 - —
K| AR T X Sl —l 3. 8 600 | - - -
LRELLA DR S5
1 RGERY 40 | L2|F e 16 14h 14 - —
2 LRRLUL o sk 40 | L1|H 4.5 6.6 7.9 7.3 —| -
=Eia = PR I — 2. 860 5.1 0 —| - - —
LRCLASR D I
1 JRERW 40 | L.1(F 5.6 13%F 10 100 — —
2 FECLISh o 40 | L1|H 3.6 6.3 9.4 0.4 —| -
Bl £ P L U —fodi 2,18 5.8 —|  —|  —| -
ERLEAA D X I 40 | L 1|4 2.5 6. Ll 3.9%E 3.9  — -




